DETAILED DRAWING

!Vourardu Security, Guarant

| BuyNow! |

DT <1 Vi)

TOP = ROTARY LIMIT SWITCH


http://www.crane-controls.com/PBSCCatalog.asp?CatID=2067115

COMPONENTS

Reference Code Description Reference Code Description
1 VI100005 Screw M5x2 I1SO 7045 25 PRSL6625PI Lateral gear wheel Z 84
PRSL6626PI Lateral gear wheel Z 86
2 V1000t Screw M3x9 1SO 7045 -4.8 PRSL6627PI Lateral gear wheel Z 88
3 PAO01AAO01 Yankee HF PRSL6628PI Lateral gear wheel Z 90
PRSL6629PI Lateral gear wheel Z 92
4 igﬂgggg; gzmz B . EE) PRSL6630PI Lateral gear wheel Z 94
FCN20003 Cams E + E PRSL6631PI Lateral gear wheel Z 96
PRSL6632PI Lateral gear wheel Z 98
FCN40001 CamsF+F+C+B
PRSL6633PI Lateral gear wheel Z 100
FCN40002 CamsD+D+D+D
PRSL6634PI Lateral gear wheel Z 102
FCN40003 CamsD+D+E+E
PRSL6635PI Lateral gear wheel Z 104
FCN40004 CamsE+E+E+E
PRSL6636PI Lateral gear wheel Z 106
FCN40005 CamsE+E+E+A
PRSL6637PI Lateral gear wheel Z 108
FCN40006 CamsD+D+A+A
See reference chart below for cam specification PRSL6638PI Lateral gear wheel Z 107
PRSL6639PI Lateral gear wheel Z 109
5 PRVI0180PE Screw 4x16 UNI 8112 - Z/ISW
26 PRSL9496P!I Bush n.6
6 PRSL9497PI Bush n.7
27 PRSL9273UL Plate
7 PRSL6703PI Central gear wheel Z 100
28 PA020000 Potentiometer support
8 PRTO0091PE Wheel support pin mm 35.5
- 29 PRVV9020PE Potentiometer Megatron 4.7 kQ
9 PRTO0092PE Wheel support pin mm 42 PRVV9021PE Potentiometer Sfernice 5 kQ +10%
10 PRCB0015PE Bearing 21x12x5 PRVV9025PE Potentiometer Megatron 10 kQ
- — PRVV9026PE Potentiometer Sfernice 10 kQ +10%
11 PRGUO0013PE Tightening ring PRVV9030PE | Potentiometer MCB 10 kQ fermo mecc.
12 PRTO3018PE Flange support PRVV9031PE Potgntiometer MCB 1Q kQ
PRVV9032PE Potentiometer Novotechnik 2 kQ
13 PRVI0223PE Screw M5x16 UNI 5931-8.8 PRVV9035PE Potentiometer Megatron 2.2 kQ
14 PRTR1300PE Flange PRVV9037PE Potentiometer Eurofarad 2.2 kQ +20%
15 ALB1R00001 Standard shaft 30 PA030000 Encoder support
16 PRRN1113PE Elastic ring UNI 7435 for shaft 31 PRVVE500PE Encoder 36 pulses/rev.
PRVV6502PE Encoder 150 pulses/rev.
17 PRFU3500PE Base 20 nt - -
PRFU3500P6 Base 60 &t 32 PRGUO045PE Tightening rubber
18 PRGO0026PE Tappo di tenuta 33 PRFU3550L2 Cover 20 7 with rubber (32)
PRFU3550L6 Cover 60 7 with rubber (32)
19 PRPS1075PE Cable clamp M20x1.5
- 34 PRSL0911PI Pinion gear M10 212
20 PRTOO0090PE Wheel support pin mm 28 PRSL0912PI Pinion gear M12 Z10
21 PRSL9491PI Bush n.1 PRSL0913PI Pinion gear M14 210
- PRSL0914PI Pinion gear M16 Z10
22 PRTRO0021PE | Tegolino quadro per collegamento a terra PRSL0915P| Pinion gear M20 Z8
23 PRVIO158PE Screw M4x8 UNI8112 PRSL0916PI Pinion gear M5 Z12
PRSL0917PI Pinion gear M6 Z11
24 PRSL9492P| Bushn.2 PRSL0918PI Pinion gear M8 Z12
25 PRSL6598PI Lateral gear wheel Z 35 PRSL0944PI Pinion gear M12 Z12
PRSLE599PI Lateral gear wheel Z 37 35 PRSL0919PI Male coupling with pin
PRSL6600PI Lateral gear wheel Z 36 - —
PRSL6601PI Lateral gear wheel Z 38 36 PRSL0920PI Female coupling with pin
PRSL6602PI Lateral gear wheel Z 40 37 PRSL0981PI Coupling
PRSL6603PI Lateral gear wheel Z 42
PRSL6604PI Lateral gear wheel Z 44
PRSL6605PI Lateral gear wheel Z 46 Cam reference chart
PRSL6606PI Lateral gear wheel Z 48 (degrees correspond to mechanical angle)
PRSL6607PI Lateral gear wheel Z 50
PRSL6608PI Lateral gear wheel Z 52 R >
PRSL6609PI Lateral gear wheel Z 54 PRSL7121PI (180 [D ] ) prsLrr2ep g2
PRSL6611PI Lateral gear wheel Z 56 g §
PRSL6612PI Lateral gear wheel Z 58 R
PRSL6613PI Lateral gear wheel Z 60 :@ PRSL7122PI (40°) @@ PRSL7125PI (60°) 58
PRSL6614PI Lateral gear wheel Z 62 ;:% 2
PRSL6615PI Lateral gear wheel Z 64 £ §
PRSL6616PI Lateral gear wheel Z 66 PRSL7123PI PRSL7126PI (72°) 2os
PRSL6617PI Lateral gear wheel Z 68 % g%
PRSL6618PI Lateral gear wheel Z 70 222
PRSL6619PI Lateral gear wheel Z 72 gi%
PRSL6620PI Lateral gear wheel Z 74 13%%
PRSL6621PI Lateral gear wheel Z 76 ‘5.; 8
PRSL6622PI Lateral gear wheel Z 78 j:fg q:;
PRSL6623PI Lateral gear wheel Z 80 °E3
PRSL6624PI Lateral gear wheel Z 82 $§§
ToB
T O
0EQ
=83

PRCAOEBZ01

INDUSTRIAL

POWER & CONTROL 1ol Free: 1.888.822.2024  Fax: 1.519.822.2140

ENERGY SOLUTIONS FOR CRANES, HOISTS & MONORAILS Email: info@ipandc.com Web: www.ipandc.com




STANDARD VERSIONS

Re\:::ilgion 2 switches 4 switches 6 switches 8 switches 10 switches 12 switches

1:1 PFD9067A0001001 | PFD9067A0001002 | PFD9067A0001003 | PFD9067A0001004 | PFD9067A0001005 | PFD9067A0001006
1:5 PFD9067A0005001 | PFD9067A0005002 | PFD9067A0005003 | PFD9067A0005004 | PFD9067A0005005 | PFD9067A0005006
1:10 PFD9067A0010001 | PFD9067A0010002 | PFD9067A0010003 | PFD9067A0010004 | PFD9067A0010005 | PFD9067A0010006
1:15 PFD9067A0015001 | PFD9067A0015002 | PFD9067A0015003 | PFD9067A0015004 | PFD9067A0015005 | PFD9067A0015006
1:20 PFD9067A0020001 | PFD9067A0020002 | PFD9067A0020003 | PFD9067A0020004 | PFD9067A0020005 | PFD9067A0020006
1:25 PFD9067A0025001 | PFD9067A0025002 | PFD9067A0025003 | PFD9067A0025004 | PFD9067A0025005 | PFD9067A0025006
1:50 PFD9067A0050001 | PFD9067A0050002 | PFD9067A0050003 | PFD9067A0050004 | PFD9067A0050005 | PFD9067A0050006
1:75 PFD9067A0075001 | PFD9067A0075002 | PFD9067A0075003 | PFD9067A0075004 | PFD9067A0075005 | PFD9067A0075006
1:100 PFD9067A0100001 | PFD9067A0100002 | PFD9067A0100003 | PFD9067A0100004 | PFD9067A0100005 | PFD9067A0100006
1:150 PFD9067A0150001 | PFD9067A0150002 | PFD9067A0150003 | PFD9067A0150004 | PFD9067A0150005 | PFD9067A0150006
1:200 PFD9067A0200001 | PFD9067A0200002 | PFD9067A0200003 | PFD9067A0200004 | PFD9067A0200005 | PFD9067A0200006
1:250 PFD9067A0250001 | PFD9067A0250002 | PFD9067A0250003 | PFD9067A0250004 | PFD9067A0250005 | PFD9067A0250006
1:300 PFD9067A0300001 | PFD9067A0300002 | PFD9067A0300003 | PFD9067A0300004 | PFD9067A0300005 | PFD9067A0300006
1:450 PFD9067A0450001 | PFD9067A0450002 | PFD9067A0450003 | PFD9067A0450004 | PFD9067A0450005 | PFD9067A0450006

Offshore Version: codes available on request.

REMARKS

TOP = ROTARY LIMIT SWITCH




REQUEST FORM FOR NON STANDARD LIMIT SWITCHES

Version ‘ Standard cam sets
Stand_ard D Offsho_re D ‘ Code Cams
EOE'CE”L - foj"fnl o FCN20001 [0 [p]
] nl FCN20002 D |
| FCN20003
. . FCN40001
| FCN40002 @ @ @ @
M . | [6] FCN40003 |[p] [D]|
FCN40004
| FCN40005
555 5 5 5 B/ (o) romaonos [o][o)
SE|Be tE | BE &£ §E|
»3|O08 H»3 |68 H»Y 08[ Cams
00 0o 00
] [ ] ] (180°) PRSL7121PI
\
40°)  PRSL7122PI
00 0o oo ® O
[ ] i
c PRSL7123P!
O 0 O £
. D} CINE®) PRSL7124PI
|
| [€] @@ (60°)  PRSL7125P|
\
| (72°)  PRSL7126P

Output X ‘ ‘ Output Y ‘

‘ Output Z H

* Mark the number corresponding to the cam set required, ‘
if standard; otherwise mark the letters corresponding to the
single cams required.

‘ Female coupling

Revolution ratio

Male coupling

[]

Output Output ju

X Y Z XYz  |I——
IS [ ][ ]1:150 | Coupling

IOt 0 L

DOOogwe  pogre .
DDD 115 DDD 1:300 | Flange

][ ][] 120 (][ ][] 1450 []

DDD1:25 [] 1;I:||

L[] ] 180 R
I8 B

L] ] 1100

Flexible shaft

Pinion gear

D PRSL0911PI M10 212

D PRSL0912PI M12 Z10

D PRSL0913PI M14 Z10

D PRSL0914PI M16 Z10

D PRSL0915PI M20 Z8

D PRSL0916PI M5 Z12

D PRSL0917PI M6 Z11

D PRSL0918PI M8 Z12

D PRSL0944PI M12 Z12

[ | Customised M. ]zl

PRCAOEBZ02

INDUSTRIAL

POWER & CONTROL ol Free: 1.888.822.2024

ENERGY SOLUTIONS FOR CRANES, HOISTS & MONORAILS Email: info@ipandc.com

The data and the products illustrated in this brochure may
be modified without notice. Under no circumstances can their

description have a contractual value.

Fax: 1.519.822.2140
Web: www.ipandc.com



